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Complete these calculations.

Challenge

practice_add-sub_2213_day1     

Write some addition sentences using this fact: 1 + 2 = 3. One must involve a number bigger than 50.

1) 2 + 4 =

3) 7 + 2 =
2) 3 + 5 =

5) 6 - 4 =

8) 8 - 6 =

6) 9 - 3 =
7) 7 - 5 =

4) 1 + 8 =

12 + 4 =

17 + 2 =
13 + 5 =

16 - 4 =

18 - 6 =

19 - 3 =
17 - 5 =

11 + 8 =

32 + 4 =

37 + 2 =
43 + 5 =

26 - 4 =

58 - 6 =

39 - 3 =
47 - 5 =

41 + 8 =
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Complete these calculations.

Challenge

practice_add-sub_2213_day1     

Write some addition sentences using this fact: 3 + 3 = 6.  Two must involve numbers bigger than 50.

1) 12 + 4 =

3) 17 + 2 =
2) 23 + 5 =

5) 6 - 4 =

8) 58 - 6 =

6) 19 - 3 =
7) 27 - 5 =

4) 21 + 8 =

22 + 4 =

37 + 2 =
33 + 5 =

16 - 4 =

78 - 6 =

29 - 3 =
47 - 5 =

41 + 8 =

42 + 4 =

57 + 2 =
53 + 5 =

26 - 4 =

98 - 6 =

49 - 3 =
67 - 5 =

61 + 8 =
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13 - 6 = 7

Challenge

practice_add-sub_2213_day1

How many pairs of digits fit in this sentence?
6      -     = 57

14 - 8 = 6 15 - 7 = 8 16 - 7 = 9

14 - 7 = 7 16 - 8 = 8 13 - 5 = 8

1.	 34 - 7 =

2. 	 53 - 6 =

3. 	 55 - 7 =

4.	 84 - 8 =

5.	 46 - 7 =

6.	 33 - 5 = 

7.	 52 - 6 =

8. 	 94 - 7 =

9. 	 26 - 7 =

10.	 23 - 6 =

11.	 76 - 8 =

12.	 35 - 7 = 

Which calculation did not use one of the facts in the boxes above?


